
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  nTB	
  –	
  TA	
  =	
  Ma	
  

#	
  of	
  Left	
  Thread	
   #	
  of	
  Right	
  Thread	
  
Left	
  breaks	
  

TA	
  =	
  T0,	
  	
  	
  TB<T0	
  

Unpredictable	
  
which	
  breaks	
  
TA	
  =	
  T0,	
  	
  	
  TB=T0	
  

Right	
  breaks	
  

TB	
  =	
  T0,	
  	
  	
  TA<T0	
  

1	
   1	
  

TB	
  =	
  TA	
  +	
  Ma	
  
	
  	
  	
  	
  	
  	
  =	
  T0	
  +	
  Ma	
  <T0	
  
Ma	
  <0	
  

Impossible	
  

nTB	
  –	
  TA	
  =Ma=0	
  

a=0	
  

TB	
  =	
  TA	
  +	
  Ma	
  
TA	
  =	
  TB	
  –	
  Ma	
  
	
  	
  	
  	
  	
  	
  =	
  TB	
  =	
  T0	
  –	
  Ma	
  <	
  T0	
  

a>0

1	
   2	
  

2TB	
  =	
  TA	
  +	
  Ma	
  
2TB	
  =	
  T0	
  	
  +	
  Ma	
  <	
  T0	
  
Ma	
  <	
  T0	
  

a	
  <	
  T0/M	
  

a=	
  T0	
  /	
  M	
  
TA	
  =	
  2TB	
  –	
  Ma	
  
	
  	
  	
  	
  	
  	
  =	
  2T0	
  –	
  Ma	
  <	
  T0	
  
Ma	
  >	
  T0	
  	
  

a	
  	
  >T0	
  /	
  M	
  

1	
   n	
  

nTB	
  =	
  TA	
  +	
  Ma	
  
nTB	
  =	
  T0	
  	
  +	
  Ma	
  <	
  nT0	
  
Ma	
  <	
  (n	
  –	
  1)	
  T0	
  

a	
  <	
  (n	
  –	
  1)T0/M	
  

a	
  =(n	
  –	
  1)T0	
  /	
  M	
  
TA	
  =	
  nTB	
  –	
  Ma	
  
	
  	
  	
  	
  	
  	
  =	
  nT0	
  –	
  Ma	
  <	
  T0	
  
Ma	
  >	
  (n	
  –	
  1)T0	
  

a	
  	
  >	
  (n	
  –	
  1)T0	
  /	
  M	
  

http://www.tmoritani.com/Science/MyPhysicsDiary.html

